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1. Candidate must v.'l'ite his/her Roll Number on the first page of the Question 
Paper. 

2. Please check the Question Paper to verify that the total pages and total 
number of questions contained in the Question Paper are the same as those 
printed on the top of the first page. Also check to see that the questions are 
in sequential order. 

3. For the objective-type of questions, you have to choose any one of the four 
alternatives given in the questions, i.e., (A), (BJ, (C) and (D) and indicate your 
correct answer in the Answer-Book given to you. 

4. All the questions including objective-type questions are to be answered within 
the allotted time and no separate time limit is fixed for answering objective-type 
questions. 

5. Malting any identification mark in the Answer-Book or writing Roll Number 
anywhere other than the specified places will lead to disqualification of the 
candidate. 

6. Candidate will not be allowed to take Calculator, Mobile Phone. BluetDoth. 
Earphone or any such electronic devices in the Exarnin•tion Hall. 

7. In case of any doubt or confusion in the Question Paper- the Eat,lllb ftnion 
will prevail. ' 
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1,1 ........ ~, 
l•J ffl - 29 ~ ~ (,ml ~ - ;,, 2 ,r,,;l "' m Jilt f-1 ml ,l; l"1 

JO ~ SO,., U1p11~ -.if!"v 

Cb! "" - 3s ~ •• 1t'Ol,1'1flo ""' ,. .1 m ,. m Jilt f-1 ml .., ;mi 

SOffSO,.,,i~;rf-1~ 

(CJ ffl - 42 I{< 43 (tld-:mPI - ,l; 5 3m ,j; !It'! .>ftt f-! ml ,j; 

80 # 120,ro;l>l~"1'l..tt,o 
"JIii 

jlJ Answc-n 0 ( all questions att to be given in the Answer•Book given to you 

RIii mJ i; 3"I ~ i!I "I :m-~ ii ~ flra1 

121 IS mmu_tes time ha.s been allolted to ttad this Quesuon Paper The Question 

Paptr wiU be distnbuted tll_ 2:15 p.m. From 2:15 p.m. ~o 2:30 p.m., the 

students w1U read the Qucsuon Paper only Md will not ""Tilc any answer on 

the Answer-Book dunng this period. 

"' m-., o;l ""' t ~ 15 llAz "" ... ~ '"" !1 m-"' .., llt1'fll ~ il 

2:15 ri ~ -· ~ 2:15 ri ~ 2:30 ri,,.; IITT...,. l!T-1-'U -.a~ Jll, 

"' JR'!,_ .. ~ i JW!-~ .. 1")t "" ~ ~. 

SECTIOII-A 

11"1-JI 

1. The cause of ozone layer depletion is 

IAI methane (B) chlorofluorocarbon 

(D) carbon dioxide 
(CJ nitrous o,cide 

Jilm ..... .,,,~ ....... t 

(Alm 

ICJ'llf{II~ 

IBI ~31R1'd-! 

(DJ..-ti~~ 

2. Choose I.he group of waste materials which can be classified as 

biodegradable. 

IAJ Brokrn footwear, old clothes (8) Glass tumbler, iron nails 

(CJ Plastic car, polythene bags (OJ Paper straw, tea leaves 

~ililm3l'!fti!~11'1!!'"'~· fu!,i;)~ ~-.i;qij~ 

fo;o,~-,, 

(Al ~-'fl --"l'f. 3'R -..tj (Bi ~ ..., finam!, "" ~ ~ 

(CJ ~ -.., ~ ~ (DJ qqi ~. ""' ~ 'lfltaf 

l!ll_llAY /ll048 ~ ... ,11_.111 

3. Wh,ch of lhe following compound, can be claasoficd aa • aa1ura«d 

hydrocarbon? 

H H 

IAJ H-Ll H 
I I 
H H 

(BJ H--C•C-11 

H H 

(CJ H---6=f 

H 

H H H 
' I I 

ID) H-t-c=f 

H H 

~i/ilt.;.i~fitmp,~.,.,,ijo'1!f"i.,,,~ ..... ,, 

H H 
I I 

(AJ H-y--f-H 

H H 
(BJ H--C•C-H 

H H H H H 
I I 

(CJ fi-C=r 

H 

I I I 
(DJ H---<:-<:=C 

I I 
H H 

4. The beat conductor of electricity ~gst the foUowmg ia 

(A) Ag 
(BJ Au 

(CJ Al 
(D) Fe 

~ il ,l ..,._.., ~ "'1 1m11q ~ t1 

(AJ Ag 
(BJ Au 

(CJ Al 
(DJ Fe 

S. Which of the following is not a m~ of artifida! P~n of planta? 

(AJ Cutting C'f" (BJ Layering 

(CJ Budding ('\f (DJ Grafting 

~ il It ..,._lft,ft,if tf&,, ~ ™11.-,ti 

(A) ~ 0 (BJ lftftir 

(CJ !J!'l'I (.iio) - • (D) lllJle,i 
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l3. Whteh one of the follov-,ng 11 • mni! or Mtndtk-n''• pt"riodic clua~lflcotion? 

(Al Un:1J)«'lr~ po'lltion of hydrogtn 

(Bl P1ac·1ng ur !IOtnC' chC"mlrally Jisiumilnr t'ltment~ in one ftTO\IP 

IC) CQtTtttlon of ,uomlc mu!lot'1 of 10n1e ck-mcnll 

(DI l\nuuon of ilkJtorc:-1 in dlfTrrt'nl group, 

f;c,1l!fin~~~-m~ t-~-""T"h 

IAI "1l1>" "'1 llAfm ~ 

!Bi ~,n,.,,,.,..,..,_,..,,,_,"°''"l!'""' 

ICI JU ""'1 t ...,, P"IR • "'"'"' 

101 ~Oil~!!'l!'l•fi'lfll 

14. Choo1t thC' wcnk ba~ from the roUo.;ing. 

1•1 c,101113 1B1 B•IOH)2 

ICJ CrOH ID) !JOH 

~-~S"i'"""""""~' 
JAi C,!OH)3 IBJ Ba!OHl2 

JC) CrOH ID) !JOH 

15. Elcmfflt1 P, O and R con,tirute a Do~·• triad. The ■tomic ma■-

or Pi• 35 and that of R i1 127. ~ict the atomic 1n&N or Q. 

W 46 - ) 1B1 91 

ICI 162 ... ,.J\ 10) 81 

... ,.ow 11~1R .. fll,d,,.t_t, w,. .. ......,_35.,.R 

.. 127 t, O ti """S - .. 313""' •• , 

fAI 46 ,.....,. (BJ 91 

ICI 162 fDI 81 

.,..,,.. • I 

16, lllhno 1, 11,. •le<-._ --d-• .---, et I -

IAI 2 1111 I 

ICI la 1111 32 

K""1,<Q~'"'1fflo- .... lil<lt, 

IAJ 2 1111 I 

ICJ 18 1111 32 

17, Which ol lh• r.uo..n. i. - a baoo ....,--, _.,., 

IAl L<n1th 1111 Eloctrte....,_. 

ICJ T,me fDI .,_ 

~ •• ..,..19 .............. ., 

IA)-, 

ICJ -

181 ......... 

fDI -

II, Maleh Colu..,,_, will. the - option ol eotu..,,_,1 : 

a.ii.--, ~ 

/1/ IOlan 

/fl/ 100a 
fa/ 104..,. 

/1,J 111•..,. 

f<llo"-

(d/ 107 mm 

~--......a,.--.....-.~, 
.._. """"-u 

10 10._ 
,aJ 104 tn■ 

f/lJ 100. /1,J lo" ma 

I</ lo"mm 

(dJ 101 nun 

, I 
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19 c:o,,,;,k<• thc: to;;iaoill& ""'""'"' -the c,pooc• r""' "'lb< l,nlCkm ~---~·"" 
u,aft tJ>al of O prolO"· 

1•2•2 

.._ ., • ""'"°" .. slightly 

14,u.llit ~of_ ... 
.,..-w,1, 

m,m IDP '° bottom ,n a grvup ol 

~"""..;.-illto."'lt,o:Pi1""l'<ffl~~~ 
'q ri t. ~- !It r.ll " .,. 

9"~P""'~---·~-"' ti"''' 
,.,..nl!l•fdl~il"'"'"ctf;fl'l",...~m .. 

1•2•2 lO. Read oh< puyg< and ..,..,u the question• tl>At lollow ~-& to law al cgmrrratiOn of lllOlflcnnim, il' two •:>r mere objtCU co!lidc tri!h each otha', their total momentum renuuns consel'Vffl bcfatt and 1,.'tt:"" Im' collisaon. provided there ,s no otcfflll for« acting on them From lht "1:eWtOD'• laws of motion, th<" rate of char.&e of momentum is equal ,o thc: force. 
A rtnc bavtn& a ma .. •k& fl:<> a bullet at a apttd l50ms

1
• 1f Ute nflc reccih with a ttlocity o! l m I ', then the mass nf the bullet i• 

1A1 OCl6 kg 

IC\ 0 

!Bl 0-016 g 

101 16g 

J./ c;,...,. Foru lfl _iinal ~mtum _ 1P11 - lrutial momentum 1!'.J! umctll 
U F • 0, what doe-a the pen e:xpttallOn ahow? 
IAI P1 • P 

IC\ P2>P 

tBI P, C P, 

IDI P,-P1•t 

~ .. .., .... !Rlioitw,n,il•---....,_..,. • '-' * "'P", .tt o •~Ill~~ ii twl t. Iii • ii SP! >llll'ml •u: _,,,_,~··al ii ,-.111 .. --- .. ....... Sll"'l<"•'llil•'-'!f'l''"'I; .. lill ..-.. ... •-11111191 /ii •k&~_-"!'ll'Oi~l50m(l~•-"ll'Oi,il,fl~f•~-lma·••.., llllfllw1iffl'!i, ,n ~-"111-t 
IAI 0-016 kg tBI 0-016 & 
1q O 101 1-6& 
kot t 3'flN IN'! IPal -~ ...., tPi.) faJ ""'lfl ,... Ill --
lift F'•O, ,n f«t >m - .,. min h 
\Al P,•P1 

iCI P2 > P1 

(81 P:z< P1 

illl P,-P,•t 

21, Write True(T) for corrttt atatemint and fal~!Fl for incorrect .1 
statement 

t •t-1 (fJ Add ra.in &ttccta hfc in water and DD land. f (iij B,odcgndable waate cannot be. di'.-,led by mlCTObe• into - i· · and non-tor.ic aubat.ancn. 
---•~-rn~--•llw.-1F1~ 
{tJ - ~ """"' ""' "1ll'l<ril .. 'h~ "" """"' "'"" t, 

,, 
fiil -~>l'tilttl .. ,..m.1~~ ... 11.-~d~a~"'--'"'-·· 
{tJ Aquatic planta .,,. called 
ffll 1be intenaity of an earthquake, is olflCK,-ured on I.he h-il•\ti!~ 
IQ - t,i! 1U ,.,,... ..... ""'-·· 

.. ql'fi,m!I., 
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s&C'l'IOll-8 

~ 

29, /II 

Y.ritr iuo m•tm•I• "h"h ah<" du,tililY •nd 1n
1
ille•l>iil\Y• 

0, 

/u/ N<m< rwo metal o_,dea which r<-"'' "''" •" 11dd •• well 
• bl,<lf, 

fiJ ,_,..,,.~~"'"·~ .. ,,.[!lft,>!.I 

as with 

,...,., 
/i) .;,Q\I '1!111 f:1< ~ ii ~ ~ .,,\ °' ~ ~ ii. ,11\ ~RJ,,,I 

SO. 1'dt' lhc IJID,bll'- of .ons ~t m Alum,mum ch\llndc 
~ ~ ~ ~ .,~ ii. ~ fll1lAI 

:i, 

31. Ji '<lib,- do<S !be coklUr of dry blue bunu• paper rem&1n unchanged ....,. .ten i1 .. t,roughl Ul contact ,.,th HCI gas? 

Or 

~ HO" does water help in cbS50C&tl0n of aods and bases? 

~ HCI In; « ""'°' ii M'l'I 'I\ ,fl~ 'lffl ~ qq\'"' i,i ~ ~ ~? 

311m 

/hi 3"l'll 1"11 viii ii.~ il...., ~ 111"1\ ~ '""" t? 

32. Name any disease caused due ID deficient secretion lrom thyroid gland, M ~ TI'! '"' ""' ~. ~ ~ lifll lt; 111'1 ii "l"ffl t lfi1l'I 'illll t1 

33, /i, !alculute the work d.one in moving a charge of 2 c acrou two pointa having 1:1 potrntiol difference or 15 V, 

Or 
/ti/ Name the instrument, U'led to meuure /a/ voltqe and /bl curttnL 

/ij 15V f,\wm,, llril ~ it,.lll ii. 311'-'11' 2c rill 1") afll ~ ij ~ ~ d 1lliT ~fhl.i-1◄ ~.I 

-(1i/ /a/1it;.t,~.,, (b/""1w;)omij1'llilo,mi_'fflwll'i.....,..i«--• 

t34, Wnte thr general formula for alkenes and alcohols. 
~,.;f;la v.a ~ *""""' 'l1 mftn.1 

2 

2 

115. /1/ Mention three psychological cb.anp that an, a;,:n,-...oed t., c:e adolescents. 
3 

Or 
/ill LISI three physiological changes that ..,,.. .. p,:ber.y in !:==c:. ~ 
/iJ ~,..ft,;ij~ij~ ...... ~v.;,:;,r.'"",',l'S~• -/iii 11m'llil-31R'R1'Rmfto;1P.l'l!iii'"11l"\~ 

List the raw materials requiffil for manufacrure ol bleaching po,.'der. How is it manuractured by Huenclever method? Wnte the equation for the reaction involved. 
3 ~"'ilil!llllo!iliftll(lll'RW~llll'l,l;lll."il~1~M,~­f!lqlot~---•1~il1!dil.!31Mron'"1~~1 
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37 (1/ 

51,1« th• rul<" for d,stnbuuon of et«iron• in d,Uerent orbits of 
llll al(itTt 

Or 

3 

{IJ/ What do you mean by octet rule? llo~· con you calculate the volenc1<• of th• elementa from the electronic configurauon by applying th< octet 
rule? 

(V f."'11 Sl"1'!l ;,, fq,i-lmt ,r,ail ii ~ ~ flmv, ils f.l,i,t -I 

J1ff1f( 

(ii/ .,r1mr:i..~ :,nq..,,mraJ? :IWfltr.i,,,tii;~t~~~ ~,.., fi,;,t n;Tl ;r,aj-4;1 m>"!! $l '1'!'<1 ffl? 

38. ~ 
A buUct of mass 0·02 kg collides W1th a stationary wooden block of mass 2 kg with o velocity of 100 m s-1 and gets embedded into it. Calculate thC' velocity of I.he block after collision. 

Or 

ful St.alt' tu.io factors affecting friction. Why arc tyres of automobiles 
treaded? 

(1/ 2 kg~~~ il n} ~ 4; ~ 1i 002 kg 1lfAI ,n,11 100 m .-
1 

~ ~ ~ ~ t aft<~ llll1 ml 11 ~ ii; .rot~ ~ ~ ""1 m1 

:RfJ111 

(uJ """ii ll'!1flla ~ "1R 'II .;i.-..i '"1 lfOR ~I~~ too\~ 1ll"ffl 
(treaded) >"1 ~ :ml t l 

39. Adolescents may be biologically capable of reproduction but they are not rtady to shoulder the responsibilities of parenthood. Justify the statement by giving three points. 
Wi\iii,m~tlw lll'!ffl"wdtt~• ~..,~ ~ii;ftil't ~ffi"'lmn• m-11; 

3 

40. Write three char~ri•tlcl lhown by aquatic animala. 
~~'CRl~ifR~~I 

41. List three steps that you and your ~ahould take ofter experiencin& 1111 earthquake. ··•, I 

4:1. 

~ t 3T"I 1i ':Im t ~ 311'1. ~'lbll ~ - -· ~ .. ~ ~ '!l'll-.1 

(I/ Draw a ray diagram to show the (~lion of ~ by a concave lens when the object is placed in front of it. 
(Ii/ In the above ray diagram, mark the object diatancc (u) and the image distance M with their proper sian• u per the new Cartnian sign convention. 
(w) State how u and u are related ...,.... focal length If) of the concave len11 in thia cue. . ·-?i: 
(lu/ Write the nature of the iJDa&e (~.. by the lens in the above caac. r,1-

ll") 

3 

3 

5 

/ii Why docs the cord of an ~ not glow wllilc the heating clement doea? N 
2 

(ii/ Which arrangement (Nrica or parallel) ia uacd for domestic circuita? What are the advant.agea of thia 8ffllnlCIJICDt? 2 
(w/ How ie the •trenath of m-1ic fteld near a etraight current-carrying conductor related to the •trenath of current in the conductor? 

/ii -A•~•~•1R~-~~~11.11;llGlor m ~I 

lfll•••il'lll ....... ~1!;3131'lt~~~(u)1"11 .. «l"M•--1'11~-,.""~I 
(iillllllMllil.-ACI • """' -~-'Pflnrf? 
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(i/ f.nJit lll'r<l, 11,) ,IJTI'J.M ii ,11'\t-~ t4THI 1111 11,l1 1f,! ~lf'l:lll ~41f4, 'Jll.0 ~ llTT 
1ffl11,i1'1 t? 

(iiJ ~ Rf.\,? i\, f~ fll,H '111,1!>11 1""'11P,•T 'II 'fll 111,11) "~ U'l'l!PI lllffl t 7 t!I ~ 
1', ~ ~N ~7 

(iii) r.alfl ift1'l ~ ~m~ i\, f4,.,, 11~f.l1r ~ll If.I 111,r,,l f~,, lllr.T! ~ ii um 
~ ffl'l1.i 1' ~~ ~m t? 

43. (iJ (a) Write electron dot structure for culcium (atomic number 20) and chlonne (atomic number 17), Show the fonnauon of calcium chloride by the transfer of electrons, 

(b) Give two phy~ical properties of auch compounds, 

Or 

{ti) A non-metal X 1s an important constituent of our food and forms two oxides Y and Z. Oxide Y causes global warming whereas oxide Z is toxic. 

(a) Identify X, Y and Z. 

{b) To which group of periodic table does X belong? 

/ii fa/ ~ <~ m,in 20) ~ ~ <~ a 17) ~ ~ ~ ~ 
('iR) m...ri ~I ~~{TU~~ llil ~ ~I 

(b) ~~~~~~~~~~I 

Jlfl1fT 

(ii) "'1$~X~~11il~~lW'it'll'l'l~Ylftlz~~ 
1lil f.rinvr ~ t1 ~ Y ~ m;i ~ 'lfiUIT t ~ ~ Z ~ 
~ !1 

(a) X,Y1"fTZifi'l~~I 

(b) X ~ ~ ~ fG lflll ~ - t? 

5 

12/MAY/2048 (24V0-3570><31 IIDllll\\11\\1111 
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